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> eql:=Ns[2,4]-. 18*sm(Ns[2,1],1=1...5)=0;
The firet equation i from the speaficaon that dream 215 18% CHd
agl = §2 74~ 168,00 1§ 7] - 1§ NT2 - 13 NT3 - 18 N5 = 0

1 £ fer: =row(addrow (Nsnew, 5,7,1),7); 1 .
Download PDF version of :
—ﬁE B3+ ]250001\"/2479625000)&!\!73,-/7(1&’74& 12) 4+ NT4,

A5+ Reklaitis Solution Manual
> eqs:={differ[1]=0,differ[2]=0, differ[3]=0,differ[4]=0,differ[
51=0);
The remairing equations come from the ¢ omure of the recycle Joop. The companent
flow rates in Nenew row 5 must equal the flows asaumed criginally in the recyde dream
0qe= [~fT (T4 + 12) 4 N4 = 0, =7 (N75 4 1) 4 W75 = 0,
=7 (NT1 + 260.2500 - 1.9500 N72) # 71 = 0, =7 (3300 N72 + 85.7300) + 72 0,
~f7 (.25 173 + 325000 N72 + 79.625000) + N73 = 0}
> solns:=solve(eqs union (eql}, (NT1,M72,N73,N14,W75,£7}));
Maple can now soive 6 equations with 6 unkowns.
aolna = {7 = OTISA0S131, NT3 = 154.8212000, N74 = 409.6500148, 75 « 1024130037,
N72= 1262341588, NP1 = 549 3908139 ), { /7= 5956126756, 73 = 8941060028,
N74 = <14 42124558, NT5 = =3.603311395, N72 = ~470. 8804895, 7] = ~1418.650321 |
> solns[1];
Due to the non-linearity of the equations, two solutions are possble.
However, 7 mudt be a fraction 53 only the fird solution is feasble.
| /7= ST15405131, N73= 154 8212002, N74 = 408, 6520148, N75 = 1024130047,

N2 = 126, 2341588, NP1 = 5493908139 |
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